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S) Zland L2 are complementary. Solve for x and the measure of both angles.
Ll=12x+4

e lax+q+q¥+’—,,\goqo <) = '“Q;i?,”:sg, |
Q'”%f" =1 ra = G7)

3\{ 3 + 3
6) The measure of one angle is 38 ?éss than the measure of |’rs(_5p emen ]
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Find th f each angl

INd the measure of eac on%iy 3% =190 %7%—? x=\°°‘
Ax;2y~ 18 3

7) One of two supplementary cmgles i 123° less than twice its supplement. Find the
measure of both angles. N
Q}( 133 +¥= 120

13 = ]g% %X"' %‘)‘3 y=10|
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Parallel Lines:
'8) Name the angles listed and the special property of each pair.
@J 2l and. 5 =




(20 + Yr¥l 4 b= |
<98x+| 2180
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12) Solve for x and the missing angles.

;Qx4&y+Xr|20




